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APPLICATION ORIENTED COURSE 

AHE-01 : HUMAN ENVIRONMENT 

Time : 3 Hours     Maximum Marks : 100 

Note : (i)  Attempt six questions in all. 

 (ii) Question No. 1 is compulsory. 

 (iii) Attempt any five questions from 

Question Nos. 2 to 7. 

1. (a) Define the following terms : 5×1=5 

(i) Hydrosphere 
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(ii) Predation 

(iii) National Park 

(iv) Migration 

(v) Desertification 

(b) Match Column-I with the statements given 

in the Column-II : 5×1=5 

 Column-I  Column-II 

(i) Social 

Environment 

(a) Coastal bays, 

river mouths 

and tidal 

marshes 

(ii) Altitude (b) Floor of the 

Ocean 

(iii) Estuaries (c) Ultimate limit 

of tolerance 

(iv) Benthic zone (d) Affects the 

climate of a 

place 

(v) Carrying 

capacity 

(e) Cultural 

norms and 

values 
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(c) Choose the correct alternatives from the 

two provided in the brackets : 5×1=5 

(i) (Atmosphere/Hydrosphere) is of 

significance to life as all components of 

air serve as metabolite. 

(ii) (Bioaccumulation/Biomagnification) is 

a man induced process in the 

ecosystem which brings input of non-

degradable pollutants into food chain. 

(iii) (Fresh water/Marine water) 

ecosystems are characterised as lotic 

or lentic water systems.  

(iv) (Food chains/Food webs) are 

interconnected networks of feeding 

relationships. 

(v) (Taiga/Tundra) are also known as 

boreal forests extending in a giant 

circle around northern Europe. 

(d) State whether the following statements are 

True (T) or False (F) : 5×1=5 

(i) India is a vast country having one type 

of climate in its different parts. 
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(ii) Rabi crops include maize, millets, 

pulses like urad and moong, hemp and 

paddy. 

(iii) Earth is sometimes called the watery 

planet. 

(iv) Energy movement is unidirectional in 

an ecosystem. 

(v) In highly populated countries people 

tend to be vegetarians because the 

food chain is shortest. 

(e) Differentiate between any two of the 

following : 2×2
1

2
=5 

(i) Pyramid of biomass and Pyramid of 

energy 

(ii) Savanna and Grasslands 

(iii) Physical Environment and Biological 

Environment 

2. Explain the reasons for the growth pattern of 

human population. 15 
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3. Discuss the chain of events by which modern 

agricultural practices affect the quality of 

environment and human health. 15 

4. Describe the concept of waste management and 

as to how hazardous waste is being disposed off 

in our country. 15 

5. Discuss the food and water related health 

problems and those that arise as a consequence 

of unplanned projects. 7+8=15 

6. Discuss the relationship between international 

economy, environment and development. 15 

7. Write short notes on any two of the following : 

2×7
1

2
=15 

(i) Resource Management 

(ii) Effects of pollution on Non-biological 

systems 

(iii) Methods to disseminate environmental 

information 
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5×1=5  

 (i)  

 (ii)  
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 (iii) 

 (iv)

 (v)

I II 

5×1=5 

 I II

(i) (a) 

(ii) (b) 

(iii) (c) 

(iv) (d) 

(v) (e) 
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5×1=5 

(i)

]

(ii)

]

(iii)

(iv)

(v)
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5×1=5 

(i)  ]

(ii)  ] ]

]

(iii) 

(iv) 

(v)  

]
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2×2
1

2
=5 

(i)  

(ii)  

(iii) 

]

7+8=15
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]

2×7
1

2
=15

(i) 

(ii) 

(iii) 
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